Virginia High School League Scholastic Bowl
page 5
2008-09 District Competition

Match #10 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
For several decades, members of this dynasty held the title of Mayor of the Palace, although Pepin the Short was the first king. Named for the winner of the 732 AD Battle of Tours, what Frankish dynasty was the successor to the Merovingian? 

ANSWER: Carolingian dynasty (accept Karlings, Carolings, or Carlovingians)

2.
It includes the St. Dunstan’s chapel and the Whispering Gallery on the inside of its dome.  It contains the tomb of the Duke of Wellington. What cathedral was re-designed after the Great Fire of London by Sir Christopher Wren?

ANSWER: St. Paul’s Cathedral

3.
While working for the San Francisco Examiner, he exposed a bill that would have given $130 million to the Central and Union Pacific. What author of ‘An Occurrence on Owl Creek Bridge’ disappeared in Mexico in 1914 and wrote The Devil’s Dictionary? 

ANSWER: Ambrose Bierce
4.
This theorem was first proposed by Francis Guthrie in 1852 and proven by Appel and Haken in 1976. Countries with exclaves, such as Azerbaijan and the United States, make it inapplicable for real-life maps. What is this theorem about a plane split into regions and the fewest crayons needed to fill in that plane? 


ANSWER: four-color theorem

5.
This law was stated by Ralph Fowler decades after its three companions were stated. What law of heat energy states: ‘If two systems are in equilibrium with a third, they are also in equilibrium with each other?’

ANSWER: zeroth law of thermodynamics
6.
Darby Shaw writes the title document, in which Shaw theorizes that oil magnate Victor Mattiece may have been behind the assassination of two Supreme Court justices. Written after A Time to Kill and The Firm was what novel by John Grisham? 

ANSWER: The Pelican Brief
7.
In 1942, a Swedish company invented the first single-use of these by mixing tissue with rubber. Elastic leg cuffs have reduced leakage, and new polymers have reduced the bulk of disposable ones. What are these items used by people who can’t use the bathroom?  

ANSWER: diaper(s) or nappy(ies)

8.
Consider the sentence, ‘Thomas gave himself a high score.’ What is the direct object of that sentence?


ANSWER: (a high) score

9.
In 2005, this company’s chairman drew up The Way Forward strategy to return to profitability. In 2008, it sold to India’s Tata Motors its Land Rover and Jaguar subsidiaries. What company made a hybrid version of its SUV, the Escape? 

ANSWER: Ford Motor Company

10.
Along with whales, they have been considered ‘royal fish’ since the 14th century. The beluga type of this fish can weigh in at 5,000 pounds. What fish is farmed for its eggs, which make caviar? 

ANSWER: sturgeon
11.
This seven letter word originates from a Latin word meaning ‘to shine’ or ‘to emit light.’ It is rarely a noun, and refers to a point where a meteor shower appears to originate. As an adjective, what word refers to something that is emitting heat and/or light? 

ANSWER: radiant
12.
The Florida Panthers drafted him in the ninth round in 2003, claiming that leap years made him old enough to be selected. Adrian Fenty awarded him a key to his city after he won the Hart Memorial Trophy in 2008. What Russian left winger signed a record $124 million contract in January 2008 to stay with the Washington Capitals? 


ANSWER: Alexander Ovechkin
13.
The ‘Educational’ type is now a Coverdell Education Savings Account. Holders must start withdrawals at age 70 and a half, and are tax penalized for withdrawals before age 59 and a half. The ‘traditional’ and ‘Roth’ are the main types of what accounts?

ANSWER: Individual Retirement Account or IRA
14.
This ion’s silver compound is sometimes dropped in newborn babies’ eyes to prevent blindness. This ion is present in saltpeter. The conjugate base of nitric acid is what ion that has charge of negative one and formula NO3?

ANSWER: nitrate ion

15.
This dynasty’s rule over its namesake German state ended in 1837 due to Salic Law forbidding rule by women. It was replaced by the House of Saxe-Coburg-Gotha in 1901. What English dynasty ended with Victoria and began with four kings named George? 

ANSWER: Hanover dynasty

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Gordon Brown is the United Kingdom’s Prime Minister. What leader of the Conservatives is the leader of the Opposition?


ANSWER: David Cameron
1B.
In what Edgar Allan Poe short story does Legrand decipher a code to find Captain Kidd’s treasure?


ANSWER: ‘The Gold-Bug’
2A.
What Japanese commander at Midway said, ‘I can run wild for six months ... after that, I have no expectation of success,’ after Pearl Harbor? 


ANSWER: Yamamoto Isoroku (accept the name if said in reverse order)

2B.
All or nothing – what two sets of bones lie between the phalanges and the ulna/radius pairing in the human hand?


ANSWER: carpal(s) and metacarpal(s)

3A.
What word ultimately descends from a Sanskrit word meaning ‘scoundrel’ and also describes a cult of killers or an individual involved in crime? 


ANSWER: thug(s) or thugee
3B.
Slovenia, Hungary, Serbia, Montenegro, and Bosnia are the countries that border what other country? 


ANSWER: Croatia
4A.
What name is given to the study of amphibians and reptiles?


ANSWER: herpetology
4B.
Bottle-dweller Barbara Eden played the magical title character in what show where the ‘Master’ was astronaut Tony Nelson?


ANSWER: I Dream of Jeannie
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION. A student scores 70, 80, 50, 100, 90, 70, 85, and 95 on eight tests. What must he score on the 9th test to get an average of 85?


ANSWER: 90

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  The quantity x squared minus 4x plus three is less than zero (x2-4x+3<0).   Find all values of x.  


ANSWER:  1<x<3  or  x is between one and three excluding the one and three

6A.
What programming bug results when a loop’s terminating condition is miscoded so that it can never be met?


ANSWER: infinite loop

6B.
Once known as hydrargyrum [hye-DRAR-guh-rum], organic compounds of what element can be lethal if absorbed through the skin? 

ANSWER:
mercury
7A.
Russian is the most-spoken Slavic language. What West Slavic language spoken by 42.7 million is in second-place?


ANSWER: Polish
7B.
What was the name of the work that resulted when Marcel Duchamp added a moustache to the Mona Lisa?

ANSWER: L.H.O.O.Q.
8A.
The Cowgirl and the Wrangler kiss at the end of what ballet by Aaron Copland?


ANSWER: Rodeo

8B.
The character of Mrs Malaprop appears in what play by Richard Sheridan?


ANSWER: The Rivals

9A.
In 1954, what victory by the Viet Cong convinced the French to abandon Indochina?


ANSWER: Dien-bien-phu

9B.
What longest-reigning Chinese dynasty contained the Spring and Autumn Period and the Period of Warring States? 

ANSWER: Chou (CHO, but accept it said ‘Chow’)

10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. Take a solid sphere with a radius of 3”. Cut it into four equal orange slice-shaped pieces. What is the total surface area of all four slices?


ANSWER: 72 pi square inches
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  A car gets 22 miles per gallon and gas costs $3.02 per gallon.  If gas costs $66.44, how many miles was the trip? 


ANSWER: 484 miles

Third period, 15 toss-ups, 10 points each

1.
Ones near the coast can be at risk from saltwater intrusion. Other examples include the Great Artesian Basin in South Australia and the Ogallala in Nebraska. What are these underground layers of rock that contain groundwater? 

ANSWER: aquifer(s)

2.
In a song with this title, Frankie Avalon asked the title figure to ‘a girl who wants my kisses and my arms.’ Another song with this title had two versions reach Number One: the first by the Dutch group Shocking Blue and the second by Bananarama. In that song, the title character was a ‘Goddess on a mountain top.’ What is this shared song title about a goddess of love? 


ANSWER: ‘Venus’

3.
He made Frank the Cabby and his wife Nellie the first rulers of a world he created. He used Deep Magic from Before the Dawn of Time to overcome being executed on the Stone Table. What son of the Emperor-over-the-Sea is the leonine creator of Narnia? 

ANSWER: Aslan the Lion

4.
The one in Oklahoma has Guymon. The one in Connecticut contains Stamford. The one in Texas has Amarillo. The one in Florida has Tallahassee. West Virginia has two of what geographic features that extend from the rest of that state?

ANSWER: panhandle(s)

5.
He allowed his friend Patroclus to wear his armor, but Patroclus was killed by Hector. He then roused himself to battle, killing Hector and dragging his body around the walls of Troy. Who was then killed by Paris’ well-aimed arrow? 

ANSWER: Achilles
6.
The center pivot method of this is used in flat terrain. The drip method is the most water-efficient. The surface method is often seen in rice basins. What is this technique of providing water to soil to help crops grow? 

ANSWER: irrigation (accept word forms, and accept sprinkling before ‘drip method’ is said)

7.
This can be produced when a fast neutron hits an atom of lithum-6. Its half-life of about 13 years means it is very rare. It decays via beta decay into an atom of helium-3. What is this radioactive isotope of hydrogen with two neutrons? 

ANSWER: tritium or hydrogen-3 (prompt on ‘hydrogen’)

8.
He read The Rise of the Colored Empires and was a member of the same social club at Yale as Nick Carraway. Who has an affair with Myrtle Wilson and is the husband of Daisy Buchanan in The Great Gatsby? 
ANSWER: Tom Buchanan (prompt on ‘Buchanan’)

9.
This musical instrument is played in pairs – the higher-sounding hembra and the lower-sounding macho. What instrument consists of a pair of hardwood shells connected by string, and are popular in flamenco music? 

ANSWER: castanet(s)

10.
His attempt at a third term failed, despite support from the Stalwart Republicans. He finished writing his memoirs a few days before his 1885 death. He is buried in North America’s largest mausoleum. What 18th President served between 1869 and 1877? 

ANSWER: Ulysses S. Grant
11.
He designed the S-42, a flying boat known as the Pan Am Clipper. He designed the first four-engine bomber, the Ilya Muromets. What man’s Aircraft Corporation in Connecticut designed the first two-rotor helicopter? 

ANSWER: Igor Sikorsky
12.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Find 5/7ths of the sum of 2/5 and 3/8.


ANSWER:  31/56
13.
Her affair with Vita Sackville-West was the inspiration for her novel Orlando. With her husband Leonard, she founded Hogarth Press. What author of ‘A Room of One’s Own’ wrote Mrs Dalloway and To the Lighthouse? 

ANSWER: Virginia Woolf
14.
This holiday is celebrated during the new moon of the month of Kartika, which falls in late October or early November. Jains celebrate Mahavira reaching nirvana, but Hindus give thanks to the goddess of wealth, Lakshmi. What is this Hindu ‘Festival of Light?’

ANSWER: Diwali
15.
While on board it, Sally Ride became the first woman in space. It had the first civilian space passenger. Its first flight was on April 4, 1983. Its last flight was on January 28, 1986, ending 73 seconds into the flight with an explosion. What was this Space Shuttle?

ANSWER: Space Shuttle Challenger
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
THIS IS A 10-SECOND COMPUTATION QUESTION.  X varies inversely as Y2.  X equals 25 when Y equals 8.  Find X if Y equals 20.


ANSWER:  4
2.
He was President of Congress between 1785 and 1786 and led the Second Continental Congress between 1775 and 1777. Who allegedly said, ‘There, I guess King George will be able to read that!’ after being the first to sign the Declaration of Independence? 

ANSWER: John Hancock
3.
This work drew on the testimony of 228 zeks. Its story ends in 1956, as Khrushchev reversed the worst of Stalin’s atrocities. What is this description of the Soviet Union’s forced labor camps by Aleksander Solzhenitsyn? 

ANSWER: The Gulag Archipelago
4.
Camilla Belle’s performance in this movie was compared to Raquel Welch in 1967. Its villains are the Pyramid God and a race of ‘four-legged demons’ led by Warlord. In what movie does the Pyramid God square off with the mammoth hunter D’Leh? 

ANSWER: 10,000 BC

5.
Three examples of these weather phenomena are the St. Helena, Siberian, and Bermuda. They lead lower winter temperatures, higher summer temperatures, and clear temperatures. Also called anticyclones, what are these areas of high barometric readings?

ANSWER: high pressure cells (accept anticyclones before said)
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